Alfgk7-2
BUREHEEAE (ERIZE)

[EZ DT EEE])
Bk% BERMEOEFEEHET D E= 9-32
il ,,ﬁ\-zi BEEROERESL BimE =
FEHE T EE
1%(:%5,?0)%?56 - -
- e BAENES 3EE sEE
=3t i e = R Lo FHE BEERE
— st EtxiEics BRETSEEHELR %%ggwﬁﬁgﬁwmﬁtﬁﬁ 831, 404 973, 414
—feaEt WEEED  AEEEEE %%ggwﬁﬁgﬁwmﬁtﬁﬁ 365, 892 394, 176
—ges LEERED EEERARELE %%ggwﬁﬁgﬁwmﬁtﬁﬁ 14, 646 10, 950
BRSO &
HoTWb1D
1,211, 942 1,378, 540
— gt
o3 > onm|< > onm
YHAlEET
> omm|< > onm
BUEREMmO R &
22 TULVRULVAY,
HAHABEEIZET S
CEETESZL0 — et
o3 > omm|< > onm
YHAlEET
> omm|< > onm
1,211, 942 1,378, 540
— gt
.. > onm|< > onm
(=] a
YAlEET
> omm|< > onm




